T 130 9 Sy 3 &Y gao g Cuigs Elgil 3 (& 0

(W wija)pb

u)’k’.; 643% ‘L:Mé; ‘J)JN L! 0-22.-?
RYC S L RTPEIPRVP

60“9?)‘0 65% sdﬂé c.ioﬁ ‘5-05
LO)-& 60)-?‘)‘

Ul O eploly oy 9, WS €9,
Q%) O0€9)




‘ (W ey @) pbo

S 5y 098 ol oS o
PS5 29dl (2LS

5 b o gy o9y b puilbge
033 S g o JadS (g gl 9 Sod

6J—6.15 60.&?:)‘0 60)%} 6)L;| h.-"‘-
i




; | caressae

S oy 0398 ST b iy
é’-ﬁ 50)3 s»\.l’af) ‘@Lo.w s&;

& ‘C"ﬁ%)kb sO)g.é U‘ ‘)L’vl &g‘




(L ewiya)pb

oty Pl waS 58 b oy 2l gl
035 4900 ¢ s ¢yt 9 ¢ Jumnni 3 ) (b gl> 2L 3> W)




8&&3 60)?0). ‘)U'Q)&cdw

Qe 9 A5y 30 gl 0y )
e uld (0 ol




‘J'?L? ‘J.é.lé cbﬁ’} 40.02&.19‘
dxy g A (59 0 (yailles

oS b

(L ewiya)pb

0y S S b g AT pw b iy
0)y0

5 O 9y b o ols
o.:.g)b cJadd (Sod

60)-1)’ 60-3%)‘& 60-«:0.?’3"’6&&05
b b Loy




